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IECSRGBul-Normhelligkeit I*

* Yoc=Yw  nc=100,

I lEcsroBuI=50 (YY) /24 (Y,=18, ¥,/ 100<Y<=Y, )
I* (3,6)=26,1* ,(18)=50,* ,(90)=98

IECSRGBul
Normfarbwertdifferenz
Yoe=Yw - nc=100,
I lEcsroBur=50 (Y/Y) 2 4(Y,=18, ¥,/ 100<Y<=Y, )
log(dY) = (1/2,4) log[2,4¢,/50)] + [1-(1/2,4)] logY)

Anwendungs-|

' bereich
Y518

1Yy,=90

log AY/Y) IECSRGBul

. Normfarbwertemfindlichkeit
=AY Yo=Y ne=100

nc
I lEcsroBuI=50 (YY) /24 (Y,=18, ¥,/ 100<Y<=Y, )
log(@Y/Y)= log[2,4(/,/50)] - (1/2,4) log{/Y,)
= (1/2,4) log[2,4¢,/50)] - (1/2,4) log{)

log(dY/Y)=-0,57, m,=-0 41~
=0,266

|IECSRGBul

Normfarbwertkontrast
G Yo=Y ne=100

nc
I lEcsroBur=50 (YY) 24 (Y,=18, Y,/ 100<Y<=Y, )
log(Y/dY)= - log[2,4{r,/50)] + (1/2,4) log¥/Y,)
— (1/2,4) log[2,4¢,/50)] + (1/2,4) logY)

log(Y/dY)=0,57, m,=0,41 _ -~

IECsRGBuL relative Normhelligkeit I*/I*
I Yoc=Yw - nc=100,

I |EcsreBuI=50 (Y/Y) 2 4(Y,=18, Y,/ 100Y<=Y,o)
I (3,6)=26 1* ,(18)=50,I* ,(90)=98

P J=1

log [(AY/Y) 1 (AYIY),]

L*,,=49, I*,=50
10-2A

log(AY/AY,) IECSRGBuUL relative

Normfarbwertdifferenz
INUND Y=Yy ne=100,
I |EcsraBuI=50 (Y/Y) 24 (Y,=18, Y,/ 100Y<=Y,o)
log(dY/dY,) = [1~(1/2,4)] loglf/Y,)

bereich
Y,=18
e ——
Y=90

IECSRGBuL relative
Normfarbwertempfindlichkeit
SIS=BYIV@YIY), YOTarwerem

nc
I |EcsreBur=50 (Y/Y) 2 4(Y,=18, Y,/ 100Y<=Y,o)
logl(dYMN)/(AY/Y),] = - (1/2,4) logl/Y,)

Anwendungs~

bereich

log[(dY/YY(dY/Y),]=0, m,=-0,41
I*,=50, d¥,=4,80 dY,/Y,=0,2666 |
1v,=18

log [(Y/AY) 1 (YAY),]

YR=3.67 Ya=90 T

IECSRGBuL1 relativer
Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y =y 2100,

I |EcsreBur=50 (Y/Y) 2 4(Y,=18, Y,/ 100Y<=Y,o)

10g[(Y/dY)/(Y/dY),] = (1/2,4) logi//Y,)

TUB-Prufvorlage BGW1; IECSRGBUY )w
Absolute, relative Helllgkelt Empflndllchkelt & Kontraé}] 50 00, 1%-1/2 4 0,41

IECSRGBul-Normhelligkeit L*

L* Yoc=L*w - nc=100

L* 1EcsraBut=50 (Y/Y) Y2 4(Y,=18, Y, /100<Y<=Y, o)
L* \(3,6)=26,L* ,(18)=50,L* ,y(90)=98

BGW11-1A

logAY) IECSRGBul
AY Normfarbwertdifferenz
YocmL*w - nc=100,
L* 1EcsreBur=50 (Y/Y) Y2 4(Y, =18, Y,/ 100<Y<=Y, o)
log(dY) = (1/2,4) log[2,4¢,/50)] + [1-(1/2,4)] logY)

L* =50, dY,=4,80Q dY,/Y,=0, 2666

Anwendungs
bereich

1
Y518
1Y=90

BGW11-3A

log AY/Y) IECSRGBul

. Normfarbwertemfindlichkeit
S=(@AYH) YomL*w =100

nc’
L* 1ecsreBur=50 (Y/Y,) Y2 4(Y,=18, Y,/ 100<Y<=Y, o)
log(@Y/Y)= log[2,4(/,/50)] - (1/2,4) log{/Y,)
= (1/2,4) log[2,4¢,/50)] - (1/2,4) log{)

BGW11-5A

log (Y/AY) IECSRGBul
Normfarbwertkontrast

SENSY Yoe=L*w © nc=100,
L* 1ecsreBur=50 (Y/Yy) Y2 4(Y, =18, Y, /100<Y<=Y, o)
log(Y/dY)= — log[2,4{/,/50)] + (1/2,4) log{/Y,,)

- (1/2,4) log[2,4Y,/50)] + (1/2,4) logyY)

log(Y/dY)0,57, m,;=0,41 _ - =

BGW11-7A

IECsRGBuL relative Normhelligkeit L*/L* ,

LHIL* Yoc=L*w - nc=100,

L* lEcsroBur=50 (Y/Y) 24 (Y218, Y,/ 100<Y<=Y,o)
L* (3,6)=26 L* ,(18)=50,L* y(90)=98

L*/L* J=1, m=—u,29

L* =49,L* =50

BGW11-2A
log(AY/AY,) IECSRGBuUL relative

Normfarbwertdifferenz
INUNG YorL*y - n=100,
L* lEcsroBur=50 (Y/Y) 24 (Y218, Y,/ 100<Y<=Y,o)
log(dY/dY,) = [1~(1/2,4)] loglf/Y,)

BGW11-4A

1og [(AY/Y) I (AYIY),]

IECSRGBuL relative
Normfarbwertempfindlichkeit
SISU=EYNAYN, v omte e 2160

L* lEcsreBur=50 (Y/Y,) 24 (Y,=18, Y,/ 100<Y<=Y,o)
logl(dYM)(AYIY),] = - (1/2.4) logl/Y,)

N
Iog[(leYy(leYL] =0, m;=-0,41
L* =50, dY,=4,80 dY,/Y,=0,2666 }
1v,=18

YR=3.67 =90 T

BGW11-6A

log [(YIAY) / (YAY),]

IECSRGBuL1 relativer

/Gy =(YIAYY(YIAY), $orrﬂiarbwertl§)ntrast

nc
L* lEcsreBur=50 (Y/Y) 2 4(Y,;=18, Y,/ 100<Y<=Y,o)
log[(Y/dY)/(Y/dY),] = (1/2,4) logiY/Y,)

1 bereich
1y =18

NNE3601 Ya =90 T

BGW11-8A
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